$$f(t) = \Gamma^{n} \cdot f \cdot nst \leq n+1$$

$$f(t) = \int_{0}^{2} e^{-st} f(t) dt \qquad j$$

$$f(t) = \int_{0}^{2} e^{-st}$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} + r^{3}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} + r^{3}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-2s} + r^{3}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} + r^{3}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} + r^{3}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s} + r^{2}e^{-s} \right]$$

$$= \frac{1-e^{-s}}{s} \left[1 + re^{-s}$$

$$\int (f(t+2)) = e^{-st}f(t+2)dt \qquad = \frac{1}{s}$$

$$\int (e^{-s(u-2)}f(u)du = e^{2s}\int e^{-su}f(u)du$$

$$\int e^{2s}\int e^{-su}f(u)du = e^{2s}\int e^{-su}f(u)du - e^{2s}\int e^{-su}f(u)du$$

$$\int e^{2s}\int e^{-su}f(u)du = e^{2s}\int e^{-su}f(u)du - e^{2s}\int e^{-su}f(u)du$$

$$\int e^{2s}\int e^{-su}f(u)du = e^{2s}\int e^{-su}f(u)du - e^{2s}\int e^{-su}f(u)du$$

$$\int e^{2s}\int e^{-su}f(u)du = e^{2s}\int e^{-su}f(u)du - e^{2s}\int e^{-su}f(u)du$$

$$\int e^{2s}\int e^{-su}f(u)du = e^{2s}\int e^{-su}f(u)du$$

$$= e^{2s}F(s) - a_0e^{2s}\left(\frac{1-e^{-s}}{s}\right) - a_1e^{2s}\left(\frac{e^{-s}-e^{-2s}}{s}\right)$$

F(s)
$$\begin{bmatrix} e^{2s} - 5e^{3} + 6 \end{bmatrix} = \underbrace{e^{s}(1 - e^{-s})}_{s}$$

 $= (3) = \underbrace{e^{s}(1 - e^{-s})}_{s} = \underbrace{e^{s$